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interface Loopback0

ip address 192.168.1.1 255.255.255.0
|

interface TunnelO

ip address 172.16.0.101 255.255.255.0
tunnel source Ethernet0/0

tunnel mode 1ipsec 1ipv4d

tunnel destination 10.0.0.2

tunnel protection ipsec profile phse2-prof
|

interface Ethernet0/0

ip address 10.0.0.1 255.255.255.0

crypto ikev2 proposal PHASEl-prop
encryption 3des aes-cbc-128
integrity shal
group 2
|
crypto ikev2 policy site-pol
proposal PHASEl-prop
|
crypto ikev2 keyring KEYRNG
peer peerl
address 10.0.0.2 255.255.255.0
hostname hostl
pre-shared-key local cisco
pre-shared-key remote cisco
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crypto ikev2 profile IKEV2-SETUP

match identity remote address 0.0.0.0
authentication remote pre-share
authentication local pre-share
keyring Tocal KEYRNG

Tifetime 120

|

crypto ipsec transform-set TS esp-3des esp-sha-hmac
!

crypto ipsec profile phse2-prof

set transform-set TS

set ikev2-profile IKEV2-SETUP

!

ip route 0.0.0.0 0.0.0.0 10.0.0.2

ip route 192.168.2.1 255.255.255.255 TunnelO

Je5zo 2

crypto ikev2 proposal PHASEl-prop
encryption 3des aes-cbc-128
integrity shal
group 2
|
crypto ikev2 keyring KEYRNG
peer peer2
address 10.0.0.1 255.255.255.0
hostname host?2
pre-shared-key local cisco
pre-shared-key remote cisco
|
crypto ikev2 profile IKEV2-SETUP
match identity remote address 0.0.0.0
authentication remote pre-share
authentication local pre-share
keyring local KEYRNG
Tifetime 120
|
crypto ipsec transform-set TS esp-3des esp-sha-hmac
|
1
crypto ipsec profile phse2-prof
set transform-set TS
set ikev2-profile IKEV2-SETUP
|
interface Loopback0
ip address 192.168.2.1 255.255.255.0
|
interface Ethernet0/0
ip address 10.0.0.2 255.255.255.0
|
interface TunnelO
ip address 172.16.0.102 255.255.255.0
tunnel source Ethernet0/0
tunnel mode 1ipsec 1ipv4d
tunnel destination 10.0.0.1
tunnel protection ipsec profile phse2-prof



ip route 0.0.0.0 0.0.0.0 10.0.0.1
168.1.1 255.

ip route 192.16 5

255.255.255 TunnelO
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*59Bpey 11 19:30:34.811:(pg, 0 IKEV2:(pg, SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=000000000000000 (/) MSGid = 0000000 CurState State:
23& 9,08 1JgeoJ: EV_INIT_SA

*59B 0y 11 19:30:34.811: (o, IKEV2:(pg 58 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=00000000000000000000000 CurState: |_BLD_init z>¢:
EV_GET_IKE_POLICY

*59 B0y 11 19:30:34.811: (pe,8 IKEV2:(pg 8 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=000000000000000 (/) MSGid = 0000000 CurStateLd:
|_BLD: MLLLLLL_MLD_init event:EV_SET_POLICY

*59Bpey 11 19:30:34.811: IKEV2:(pg 8 SA = 1):]gal>
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*099pwy 11 19:30:34.811: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=00000000000000000000000 CurState: I_BLD_INIT
event: EV_CHK_AUTH4PKI

*099 0wy 11 19:30:34.811: (o, IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=000000000000000 (I) MSGid = 0000000 CurStatelLd:
|_BLD: MLLLLLL_MLD_init event:EV_GEN_DH_KEY

*099 ey 11 19:30:34.811: (pe 8 IKEV2:(pg, 9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI1=00000000000000000000000 CurState: I_BLD_init event:
EV_NO_EVENT

*099 0y 11 19:30:34.811: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=00000000000000000000000 CurState: |_BLD_.init event:
EV_OK_RECD_DH_PUBKEY_RESP

*09 90wy 11 19:30:34.811: IKEV2:(pog 9 SA = 1):1dg)le:
Action_NULL

*099 ey 11 19:30:34.811: (pe 9 IKEV2:(pg 9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI1=00000000000000000000000 CurState: I_BLD_init event:
EV_GET_CONFIG_MODE
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*09 90y 11 19:30:34.811: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=00000000000000000000000 CurState: I_BLD_init g>w:
EV_BLD_MSG

*099pwy 11 19:30:34.811: IKEV2:|uUble 2p9do pe36 JJp9)s:
woyw Idese

*099 0y 11 19:30:34.811: IKEV2:|uble 209J6 o236 JJp9)>:
(peoLP)

*Uu99 0wy 11 19:30:34.811: IKEv2:Construct Notify Payload:
NAT_DETECTION_SOURCE_IP

*U9 9w 11 19:30:34.811: IKEv2:Construct Notify Payload:
NAT_DETECTION_DESTINATION_IP
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IJeog: 1¢ p2z9s: 0x0. IJpg 81 3DES

13, weasd: 0x3. pp9y: 0x0: IJbgJ: 12

lJoge: 1« pze9s: 0x0. IJpg ,9: AES-CBC

13, oe9sd: 0x3. ppe9y: 0X0: IJlbgJ: 8

lJogg: 20 pzz9s: 0x0: IJpg 9 SHA1

13, ¢z9sd: 0x3. ppz9s: 0X0: IJbgJ: 8

lJuse: 3¢ pze9s: 0x0: IJpg )9 SHA96

13, we9sd: 0x0. ppr9j: 0X0: IJlbgJ: 8

lJuge: 4« peeos: 0x0: IJpg uo:
DH_GROUP_1024_MODP/Group 2
lJzeodé IJoldss J KE:N: pez9j: 0x0. IJbbed: 136

pee9€s DH: 2. pez9;: 00
IJze9J6 IJelJss: VID. ppz9;6: 0x0. IUbsJ: 24
209J6 VID IJoldss: VID. p2z95: 0x0. |l J: 23
IJze9J6 IJeldss J VID: NOTIFY. p2z95: 0x0. IJlboJ: 21
NOTIFY(nat_DETECTION_SOURCE_IP) IJge9Js IJolJsé:
NOTIFY. pzz9;: 0x0. IJlogJ: 28

PEH 90999 I.Ji,olg: IKE: zgp SPI: 0. IJyge:
NAT_DETECTION_SOURCE_IP
NOTIFY(nat_DETECTION_DESTINATION_IP) IJge9Jé
lJoldsé: JI use: pez9): 0x0: IdbgJ: 28
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VID: pze9,: 0x0. IJlbgd: 23
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IKEv2:Parse: (pgou09) Ideesds IJoldsé: ledlp: pez9s: 0xO0.
lJbgeJ: 21
*U9 90w 11 19:30:34.814: IKEv2:Parse |gJl o [z p9J6:
NAT_DETECTION_SOURCE_IP
Notify(NAT_DETECTION_SOURCE_IP) |Jzp9Jé |Joldsé:
ledlp: pez9s: 0xO0: bbgJ: 28

£, w90999J IJlsly: IKE. 2z SPI: 0. IJuse:
NAT_DETECTION_SOURCE_IP
*099pwy 11 19:30:34.814: IKEv2:Parse |gJlp 1Jzp9J6:
NAT_DETECTION_DESTINATION_IP
Notify(NAT_DETECTION_DESTINATION_IP) IJge9Js IJolJsé:
JI ubse: peeyy: 000 IJbed: 28

PEH 90999 I.Ji,olg: IKE: zgp SPI: 0. IJyge:
NAT_DETECTION_DESTINATION_IP

*099 0y 11 19:30:34.814:(ps 8 IKEV2: (g 8 SA =1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000
CurStateStateStateStateState: g>o ¢gled: g>o: RECV_INIT
*099 0wy 11 19:30:34.814: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000
CurStateState: RState: R:Event EV_VERIFY_MSG

*099 ey 11 19:30:34.814: (e, IKEV2:(pg 9 SA = 1):SM
Trace-> SA: I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000
CurStateState: RState: R:Event EV_INSERT_SA

*099 0y 11 19:30:34.814: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000
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CurStateState: RState: R:Event yog EV_GET_IKE_POLICY
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*099 0y 11 19:30:34.814: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000
CurStateState: RState: R:Event EV_PROC_MSG
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MSGid = 00000000 CurState: RState: R_BLD_TRState IT
Event:EV_GEN_DH_KEY

*099 0y 11 19:30:34.815: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 0000000 CurState: RState: R_BLD_IT IT: RT IJg>w:
EV_NO_EVENT

*U9 90w 11:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 00000000 CurState: RState: R_BLD_TRState IT
EVENT:EV_OK_RECD_DH_PUBKEY_RESP

*U99 ey 11 19:30:34.815: IKEV2:(pg 0 SA = 1):ldlg)le:
Action_NULL

*099 ) 11:30:34.815: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 00000000 CurState: RState: R_BLD_TRState IT
Event:EV_GEN_DH_Secret

*099 0wy 11 19:30:34.822: (pe 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
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Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000 CurState:
RState: R_BLD_IT IT CBlJg>w:
EV_OK_RECD_DH_SECRET_RESP

*099py 11 19:30:34.822: IKEV2:(pg 9 SA = 1):ldlg)le:
Action_NULL

*U99 s 11:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 0000000 CurState: R_BLD_PLIT Event:
EV_GEN_SKEYID

11 099 p 19:30:34.822: IKEV2:(pg 8 SA = 1):luvle skeyid
*099pwy 11 19:30:34.822: (pg, 9 IKEV2:(pg 9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000 CurState:
RState: R_BLD_IT IT CBlJg>o: EV_GET_CONFIG_MODE
*099 0y 11 19:30:34.822: |Jp wozse IKEV2IKEV2 - JI o9g>
wslule odsso Jhuwldel W IUlosl,) IKE_SA_INIT
*099 sy 11:30:34.822: Jl w9z wslule wdsse Jhuwldol IJs

hostname host2
pre-shared-key
peds CISCO o
poodl pdole ogg
Cisco




pzpoed IJbsle:
*099pu 11 19:30:34.822: (pg 9 IKEV2:(pg 9 SA =1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B

R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000 CurState:

RState: R_BLD_IT IT CBlJg>e: EV_BLD_MSG

*09Bpuy 11 19:30:34.822: IKEV2:|ouile 20906 02336 JJp9,o:

wou lJg3w

*09B e, 11 19:30:34.822: IKEV2: |6 ble 20906 p2336 JJp9)o:

(peuou?)
*u99 ey 11 19:30:34.822: IKEV2:Construct Notify Payload:

NAT_DETECTION_SOURCE_IP

*099 0y 11 19:30:34.822: IKEv2:Construct Notify Payload:
NAT_DETECTION_DESTINATION_IP

*U99 0wy 11 19:30:34.822: IKEv2:Construct Notify Payload:
HTTP_CERT_LOOKUP_SUPPORTED

*9B e, 11 19:30:34.822: IKEV2:(pg 08 SA = 1):1Jzp9J6
IJeldss: SA. 1Jluosl, 2.0 o9¢ Exchange: IKE_SA_INIT.

IJedlele: pgyd ,uvlJo RESPONDER MSG-RESPONSE: 0.

IUlbgJ: 449
peedsle Idegesds:
209J6 SA IUcldsé: KE. o961 0X0. IJbbgJ: 48
IUpone 1Jigs,: 0X0. ppzes: 0X0. IJbbgJ: 44
IUpdone: 1 perd Idws9esdsd: IKE. 2z SPI: 0. #trans: 4
IJozosd IJigs): 0x3. pzegs: Ox0: IJboJ: 12

lJuse: 1¢ pze9s: 0x0: 1Jpg 9 AES-CBC

13, we9sd: 0x3. pp9y: 0x0: IJbgJ: 8

IJo9E: 2. p2zss: 0X0. IJpg 9 SHA1

13, we9sd: 0x3. ppz9y: 0x0: IUbgJ: 8

lJuge: 3¢ peeos: 0x0: IJpg ) 9: SHA96

13, wz9sd: 0x0. ppz9s: 0x0: IJbyJ: 8

lJose: 4« pzz9os: 0x0: IJpg yuo:
DH_GROUP_1024_MODP/Group 2
Uz 9J6 1Ueldss J KE:N. pzz9: 0X0. IUbbsJ: 136

per9ed DH: 2. pe9s: 0x0
lJz9d6 IJoldss:VID: pge9sé: 0xX0: IJbgJ: 24
209J6 VID IJeldss: VID. pzos: 0x0. IUbbgJ: 23
lJzesds lJoldsé J VID: NOTIFY. pez9j: 0x0: IJbgd: 21
NOTIFY(nat_DETECTION_SOURCE_IP) IJge9Jsé IJolJsé:
NOTIFY. pgz9): 0x0. IJlbgJ: 28

£ w90999J IJlely: IKE. 2z SPI: 0. IJuse:
NAT_DETECTION_SOURCE_IP
NOTIFY(nat_DETECTION_DESTINATION_IP) IJze9Jé
lJoldsé: certreq. pze9s: 0x0. IUlbgd: 28

£ w95999J IUlelu: IKE. 2z SPI: 0. IJuse:

s99p 1Jeseo 2
clogvle ;uwld
IJouwoese J
IKE_SA_INIT
exchange. 9lJ«
Swpe luvodol
w9luwloo ASA
UZUI9S 030
506 gds:
ISAKMP
Header(SPI/
version/flags) g
SAr1(gshjpsse
UQ.JU'-.9§_) lJc¢
Sewlyol
IJeuwoese J
IKE) 9 KEr(Qs,
lJedulz IJgle
DH 1J¢los
wldpuwozsy)
Responder
Nonce.




NAT_DETECTION_DESTINATION_IP
lJzesdé IJoldss J CERTREQ: NOTIFY. pez9s: 0x0. IJlbyJ:
105

w6 wypes) CERT 9 URL J PKIX
lJgpeodé IJoldsé
NOTIFY(HTTP_CERT_LOOKUP_SUPPORTED): wJl« pgz9y:
0x0. I|JlbgJ: 8

PEH 90999 I.Ji,olg: IKE: zgp SPI: 0. IJyge:
HTTP_CERT_LOOKUP_SUPPORTED

*099py 11 19:30:34.822: (pg, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000000 CurState:
INIT_DONE event: EV_DONE

*Os 11 v py,y 19:30:34.822: IKEV2:(pg, 9 SA=1):0p
wpdsy Cisco DeleteReason Notify

*09 90wy 11 19:30:34.822: (pg 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000000 CurState:

INIT_DONE event: EV_CHK4_ROLE Syowd 1Jpszo
*o98 e, 11:30:34.822: IKEV2:(SA ID = 1):SM Trace-> SA: L wlJs
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9IC4 (R) [lJpumwezsye I
MSGid = 0000000 CurState: INIT_DONE event: IJpozo 1.
EV_START_TMR
*o98 e, 11 19:30:34.822: (pg,0 IKEV2:(pg,8 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 0000000 CurState:

RState: R_Wait_AUTH IJz>&: EV_NO_EVENT

*oobst 11 098 e, 19:30:34.822: wp $ugd bdu

IKEv2:NewKev2

*11 498 pu,y 19:30:34.822: IKEV2: 5516 £33 pyle [Jowle o

o128 weead sles

<—huwd IJpuwozsy IKE_INIT_SA —

098 e, 11:30:34.823:

IKEV2:lJzLo9d £JS 2506 o

Jesoed |_SPI=F074D8BBD5A59F0B  |\s.89,
sowcde ldeszo | . R_SPI=F94020DD8CB4BIC4 |[lUp wz S0
2ipd luuoelus *o9B e, 11:30:34.823: i |eerTes

KE_SA INIT o6 KEV2 a5 S0 2306 20 (R) MsgID = 0000000 CurState:||.oubésJ

IJeozo 2. NPSR™N INIT_DONE JesSe Jead.

T I Event:EV_START_TMR. IJpuol586.

*11 0990y 19:30:34.823:
IKEVZ:pgldes evuo) e




Slisped luwbl, pak

Swzdd [Jpszo 1 0
lJluwozled 9seldeol:
(1) sop zuwle pdCle
DH 1J s JJolsis.
9(2) sop lugble
Skeyid JJolsis lsuol.

*59B ey 11 19:30:34.823: IKEV2: (o8 SA = 1):1Jz 095
lJoldse: SAIJluosl): 2.0 gy9g Exchange: IKE_SA_INIT.
IJedlole: pg ) HumlJs MSG-RESPONSE gl o
vldpuwoesy: 00 ldbyJ: 449
pewssle [Jzesds:
2096 SA lUeldse: KE. pp2956: 0x0. IUbgJ: 48
IJpdene 1Jizs): 0x0. p2z9s: OXO. IJooJ: 44
IJpdenz: 10 perd Ie,9e9dsJ: IKE. 2z SPI: 0. #trans: 4
IJozosd IJizs): 0x3. ppegs: 0X0: [JboJ: 12
lJoge: 14 pze9s: 0x0: IJpg,9: AES-CBC
13, we9sd: 0x3. ppe9y: 0X0: IJlbgJ: 8
lJo9g: 20 pzz9s: 0x0: IJpg,9: SHA1
13, ¢29sd: 0x3. pzz9s: 0X0: IJbgJ: 8
lJuge: 3¢ pzz9os: 0x0: IJpg,9: SHA96
13, we9sd: 0x0. ppr9y: 0X0: IJbgJ: 8
lJuge: 4 peeos: 0X0: IJpg uo:
DH_GROUP_1024_MODP/Group 2
IUze9J6 IJeldss J KE:N. pzz9;: 0x0. IJlogJ: 136
rer9es DH: 2. pze9;: 0X0
IJz e9J5 IUclJs6:VID. ppz9s6: 0X0. I oo J: 24

*U99 0y 11 19:30:34.823: IKEv2:Parse Vendor Specific
Payload: Cisco-DELETE-Reason VID Next Payload: VID. pgz9):
0x0. IJlb9ed: 23

*u9dp, 11 19:30:34.823: IKEV2:cpdsd 1Jz09J6 13l 06

Aot (peoouod) 1Jepsds Ideldss: ledie: pzzss: 0%0.
IUbsJ: 21

"9 e, 11 19:30:34.823: IKEv2:Parse |e o |Jzp9J6:
NAT_DETECTION_SOURCE_IP
Notify(NAT_DETECTION_SOURCE_IP) IJze9Js IJelJss:
ledlec pze9s: 0x0. bed: 28

P& w95999J IJlelu: IKE. 2z SPI: 0. IJuse:
NAT_DETECTION_SOURCE_IP

*u99 0wy 11 19:30:34.824: IKEv2:Parse Notify Payload:
NAT_DETECTION_DESTINATION_IP
Notify(NAT_DETECTION_DESTINATION_IP) IJze9Js IJolJsé:
CERTREQ: pgz9j6: 0x0. IUbboJ: 28

P& 90999 |.Ji.o|QZ IKE: zgp SPI: 0. IJuge:
NAT_DETECTION_DESTINATION_IP
lJgesds lJoldssé J CERTREQ: NOTIFY. pzz9j: 0x0. IJlbgJ:




105
weisé oypesy CERT g URL J PKIX

*U99 0wy 11 19:30:34.824: IKEv2:Parse Notify Payload:
HTTP_CERT_LOOKUP_SUPPORTED
NOTIFY(HTTP_CERT_LOOKUP_SUPPORTED) IJze9J6
lJoldse: JI use: pez9s: 0x0: [JbgJ: 8

PEH 90999 I.Ji,olg: IKE: zgp SPI: 0. IJyge:
HTTP_CERT_LOOKUP_SUPPORTED

*099 00y 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 0000000 CurState: I_WAIT_INIT IJg>e:
EV_RECV_INIT

*099 0y 11 19:30:34.824: IKEV2:(pog 8 SA = 1):peldzs HuwlJo
IKE_SA_INIT

*099 00y 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 0000000 CurState: |_PROC_IT IT IJz>e:
EV_CHK4_NOTIFY

*u99 00y 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 0000000 CurState: I_PROC_IT IT IJz>e:
EV_VERIFY_MSG

*099 0wy 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 0000000 CurState: |_PROC_IT IT IJz>&:
EV_PROC_MSG

*099 ey 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 0000000 CurState: |_PROC_IT IT IJz>e:
EV_DETECT_NAT

*099pwy 11 19:30:34.824: IKEV2:(pg,9 SA = 1):ledlp
lJeuld nat JJg pdsé

*099 0y 11 19:30:34.824: IKEV2: (g, SA = 1):599p pelde
nat LlJo il src notify

*099 00y 11 19:30:34.824: IKEV2:(pg 9 SA=1):cblod
lJewslo o weo

*099pwy 11:30:34.824: IKEV2: (g, SA = 1):Jjud NAT
JJpeeldes ledle DST

*099 ey 11 19:30:34.824: IKEV2:(pg 9 SA = 1):1Jeuslo
lJpeds pbolo

*099pwy 11 19:30:34.824: IKEV2: (g, SA=1):dp Swp
Jess edis NAT

*099 00y 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)




MSGid = 0000000 CurState: _PROC_IT IT lJz>:
EV_CHK_NAT_T

*099 0y 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: _PROC_IT IT IJz>:
EV_CHK_CONFIG_MODE

*U99 0wy 11 19:30:34.824: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState StateState: INIT_DONE
event:EV_GEN_DH_SECRET

*u99 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000000 CurState: INIT_DONE event: EV_NO_EVENT
*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000000 CurState: INIT_DONE event:
EV_OK_RECD_DH_SECRET_RESP

*U9 90wy 11 19:30:34.831: IKEV2:(pog 9 SA = 1):1dIg)le:
Action_NULL

*099 ey 11 19:30:34.831: (pe 9 IKEV2:(pg 9 SA = 1):SM
Trace-> SA: I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (I) MSGid = 0000000
CurStateState: INIT_DONE event: EV_GEN_SKEYID

“11 099 p) 19:30:34.831: IKEV2:(pg 8 SA = 1):luble skeyid
*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000000 CurState: INIT_DONE event: EV_DONE

*Os 11 u99 e, 19:30:34.831: IKEV2:(pg, 9 SA = 1):0p
wpdsu Cisco DeleteReason Notify

*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000000 CurState: INIT_DONE event:
EV_CHK4_ROLE

*U99 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: |_BLD_AUAUAUTH IJz>o:
EV_GET_CONFIG_MODE

*U99 ey 11:30:34.831: IKEV2: |, wld wslule IJodyso 1Us
peeogsd Idisle

*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: |_BLD_AUAUAUTH IJg>e:
EV_CHK_EAP

sl Idobs oubd

*9B ey 11 19:30:34.831: (pg 8 IKEV2:(pg 8 SA = 1):SM




IKE_AUTH 9589
clogvle gp9do
lJeol>96. wewss
206 IKE_AUTH gJs:
v ISAKMP (SPI/
IJluosbI e Jlele). IDi
(0956 IJolsis). gp9do
IJpolb 86 SAI2 (Loe
SA-ppled J pzeses
we9sd Idpieds 2 B
IKEv1). 9 TSi g TSr
(el 2yJd pi9)
IJobis sldeuwozsy).
lool wewss eds
euslu Idpuo>,) 9ld9zod
Jdobs sldpworse
eds IJoglds Jlglss
wozso/luwodeld
I8 0)9) pU9)6.
S ublg IJeubso
v JJ 2098 1eas) 1s
3JY Idublg 9p00
soe logble Jule
Jol. 151 JIg IJg, 00
pdwsdl Jdpuvozse:
Slue syuwd zesdle
TS poblo®s. sop
louisle l9J CHILD_SA
Ji9z PROXY_ID IJss
sblod zipsd
IJeubgd.

lJodssu ds
lJ_oJé: crypto ipSec
transform-set TS esp-
3des esp-sha-hmac
crypto ipSec profile
phse2-prof set
transform-set ts set
ikev2-profile ikev2-

setup

Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (I) MSGid = 0000000 CurState:
|_BLD_AUAUPState: State IJz>o:EV_GEN_AUTH
*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: I_BLD_AUAUAUTH IJg>w:
EV_CHK_AUTH_TYPE
*U9 900y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: |_BLD_AUAUAUTH IJg>e:
EV_OK_AUTH_GEN
*099 00y 11 19:30:34.831: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 0000000 CurState: I_BLD_AUAUAUTH IJg>w:
EV_SEND_AUTH
*U99 0wy 11 19:30:34.831: IKEV2:|uble 209J6 Eluoo wldpg)o:
Cisco-Granite
*U9 9wy 11 19:30:34.831: IKEV2:Build Notify Payload:
Initial_CONTACT
*u99 00y 11 19:30:34.831: IKEV2:Construct Notify Payload:
SET_WINDOW_SIZE
*099 0wy 11 19:30:34.831: IKEV2:Build Notify Payload:
ESP_TFC_NO_SUPPORT
*099 0wy 11 19:30:34.831: IKEV2:Build Notify Payload:
non_FIRST_FRAGS
peessle lJzesds:
2e9Jé VID IJuldsé: IDic pez9jo: 0x0. IJlbed: 20
lJzeedé IJoldss pu IDildeol> 96 IJpzz9s6: 00 IJbgd: 12
09€ IJpgy9: gusly IPV4A pzz9): 0x0 0x0
2e9dé 1dp ol 96 IJeldsé: CFG: pze9jé: 0x0. IJbyd: 28
b,s96 IJpuol> 96 PSK: pez9s: 0x0. pez9 6 0x0
lJze9do lJoldss J CFG: SA: pgz9sé: 0x0. IJlbgJ: 309
cfg u9g: cfg_request: pzz9s: 0X0: pzz9,: OO0

*11 L9, 19:30:34.831: 1Jz09J6 lJoldsé: TSI ppz9sé: 0XO,
IUbgJ: 40

ez 1Jizsy: 00, ppz9s: 0X0. 1o : 36

IJpdene: 10 perd 1Jw)9e9dsd: ESP. 2zp SPI: 4. #trans: 3 ¢,
oz9sd: 0x3: pze9j: 0x0: IJlbed: 8

IJose: 1¢ pzzss: 0X0. IJpg 51 3DES

13, oe9sd: 0x3. ppr9y: 0x0: IJbgJ: 8

lJuge: 3¢ pzzos: 0x0: IJpg ) 5: SHA96

13, ©e9sd: 0x0. ppz9j: 0x0: IJbgJ: 8

lJose: B¢ pzos: 0X0: IJpg)9: £50 [wegsle ESN

1Jz09J6 1Joldsé J TSi: TSK ppz96: 0x0. IUlogJ: 24

num of TSs: 1. pzz9s 0x0: pgz9; 0x0




u9g TS: TS_IPv4_ADDR_RANGE: pg, IJlosl): 0. IJbgd: 16
e 93 IJwoe: 0 900093 IJuolss: 65535

walso IJgwsly: 0.0.0.00 yolso IJgusle: 255.255.255.255
lJeesdo IJeldsse J TSr: NOTIFY. pze9j: 0x0. IJbsd: 24

num of TSs: 1. pzz9s 0x0: pgz9; 0x0

u9e TS: TS_IPv4_ADDR_RANGE: pg, IJlosly: 00 IJbgeJ: 16
e 93 IJwoe: 0 900093 IJuolse: 65535

wlse IJgwsly: 0.0.0.00 yolso IJgugly: 2565.255.255.255

NOTIFY (initial_contact) IJge9J6 |Joldsé: NOTIFY. pze9;: 0xO.
lJbgJ: 8

P 90999 IJlsly: IKE. 2z SPI: 0. IJuge:
Initial_CONTACT

NOTIFY(set_window_size) IJzp9J6 IJoldso: NOTIFY: pzz9):
0x0. IJbgJ: 12

pEd 95999 IJlely: IKE: 2z spi: 0. IJuse:
SET_WINDOW_SIZE

2e9dsé NOTIFY(ESP_TFC_NO_SUPPORT) IJoldsé: ledl e
ezeys: 0x0: IJbsd: 8

P& wy909Y9J |Jiro|QZ IKE: zgp SPI: 0 IJyse:
ESP_TFC_NO_SUPPORT

lJze9dé IJoldsse J NOTIFY(non_first_frags): JI Juse: pee9s:
0x0. IJboJ: 8

08,8 ,95999J IUlely: IKE. 22 SPI: 0. IJu9s:
NON_FIRST_FRAGS

090, 11 19:30:34.832: IKEV2:(pe,8 106 (SA) =
1):1Jz 0805 IJoldess: ENCR. 1loosl: 2.0 s 1JlouooslJ:
IKE_AUTH. IJgJlolo: o8, 5uulds IJulss: 1. [JlosJ: 556
pewssle [Jzesds:

lJze9dé IJoldss J ENCR: VID. pee9j: 0x0. IJbgeJ: 528

*59B ey 11 19:30:34.833: (o8 IKEV2:(pg 8 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (1) MSGid = 0000001 CurState:
|_Wait_TM g3 1Jp_ol>86: EV_NO_EVENT

—Ilp Idobss ohuwld IKE_AUTH —>

*U99 0wy 11:30:34.832: IKEV2:lJz Lo9d eJs 2)pd pu lJeuvd
“11 099 p 19:30:34.832: IKEV2: peldzs suuoy bz Vlispo
lowbl, pak

*09 90wy 11 19:30:34.832: IKEV2:(pog 9 SA = 1):52w9S
lJbJo eJs MESS_ID 1¢ o998 pu 1 1Js 1

*Os 11 499 ey 19:30:34.832: IKEV2: (g9 [Jg>00 =
1):1Jzesdé IJeldss: ENCR. 1Jluosl, 2.0 9g Exchange:

Suvode 1Jese
2 uslolo
lJpuol> 96
IJeuwedes e
|Jeszo 1
95288 puol.




IKE_AUTH: IJgJlple: pgy0d juwlds Idols: 10 1dbgd: 556
peossle lJeesde:
*9B e, 11 19:30:34.832: IKEV2:cedsd 1z e9J6 1gl06
olJesys: (CUSTOM) Iz p9J6 IUelJwss: IDic ppz96: 0X0. IJlogJ:
20
1Jz 2906 1Jeldss oo Dl Lol 86: 1Upzz956: 0X0. | bs: 12
U9 IJpe 8 gusly IPV4A: pzz9;5: 0x0 0x0
2r9Jé ldpob 96 IJoldss: CFG. pgeyjé: 0x0. IJlbgd: 28
b,s86 lJpol>96 PSK: pge9jé: 0x0. pge9 6 0x0
IJzp9J6 1Jeldss J CFG: SA. ppz9s6: 0x0. 1JbogJ: 309
cfg u9g: cfg_request. pze9;: 0x0: pez9,: 0x0
*wobst 11 w9 po/ogisu IJelus 19:30:34.832: ¢9¢
lJzol: IP4 DNS »lgds: IUbged: 0
*wobsg 11 w9 pw/ouiysu ldelus 19:30:34.832: ¢9¢
lJzol: IP4 DNS slgds: IUbged: 0
*ooubsg 11 w9V pu/ouiysy ldelus 19:30:34.832: ¢9¢
IJzols: louold slgds eos Idubeds (NBNS) go) wy9e9dsd
IUloenoe ouuses 4 pselow: [Ubsd: yos,
*wobst 11 w9 eo/oyinsu IJelus 19:30:34.832: ¢9¢
IJzols: louold slgds eon Idubeds (NBNS) go) wi9esdsd
IJloc,oe wugs 4 pselowd ldbed: Lo,
11 98 e 19:30:34.832: o9 IUpdd: Luvods IP4 1J0,¢.56
lUslgdso: [dbed: 0
*o9Bp0, 11 19:30:34.832: uo¢ lJebosd: IUluosly: [UbsJ:
257
G9€ attrib: g5,y pE,9d - 28675, | b J: 0
*U99 0wy 11 19:30:34.832: y9¢ attrib: g, pe )9 - 28672,
IUlbgJ: 0
*09W9pwy 11 19:30:34.832: 9¢ attrib: £, pe 99 - 28692,
IUlbgJ: 0
o9 Be, 11 19:30:34.832: 9¢ attrib: £.5, pg 19 - 28681,
IUbgJ: 0
"9 p0, 11 19:30:34.832: 19¢ attrib: ¢, pg 198 - 28674,
IUbsJ: 0
11 498 e 19:30:34.832: 1z 096 IJelJs6:TSic p2z9s6: OXO.
IUlbgJ: 40
IJpdese IJigs,: 0x0. pez9: 0x0. IUlogJ: 36
ez 10 perd IJw,90999J: ESP. 22 SPI: 4, #trans: 3 13,
oz9sd: 0x3: pze9j: 0x0: IJlbed: 8
IJose: 1c pzzoy: 0X0. IJpg 5 9: 3DES
13, we9sd: 0x3. pp9y: 0x0: IUbyJ: 8
lJuge: 3¢ peeos: 0x0: IJpg ) 9: SHA96
13, we9sd: 0x0. pp9y: 0X0: IUbgJ: 8
lJoge: B¢ pzz9s: 00 IJpg9: £50 [uwgsle ESN
Uz 0906 1Jeldss J TSi: TSI ppz96: 0x0. IUbosJ: 24

lJodssu 38
IJuoJé: cgus,
AES256 Jo, s
ESP Jo,sosdsd E
IKEv2 IPsec oyl
wysosdsd ESP SH
1 MD5




num of TSs: 1. pze9 0x0: pze9; 0x0

u9g TS: TS_IPv4_ADDR_RANGE: pg,9 IJlosl): 0c IdlbyJ:
16

e 93 [Jose: 0 900095 [Juolss: 65535

wilss IJgusly: 0.0.0.00 yolss IJgusly: 255.255.255.255
lJze9doé IJoldss J TSr: Idledle: pee9): 0x0. IUbgJ: 24

num of TSs: 1. pzz9s 0X0: pze9; 0x0

u9e TS: TS_IPv4_ADDR_RANGE: pg ;9 IJlosl): 0 Iy J:
16

o093 IJwoe: 0 900095 IJuolso: 65535

wdlsé 1Jgwglu: 0.0.0.00 yolss IJgusly: 255.255.255.255

*099 0y 11 19:30:34.832: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
R_Wait_AUTH IJgz>e: EV_RECV_AUTH

*U9 90wy 11 19:30:34.832: (pe, 9 IKEV2:(pg, 9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
R_Wait_AUTH IJg>e: EV_CHK_NAT_T

*099 0y 11 19:30:34.832: (pe) 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
R_Wait_AUTH IJg>e: EV_PROC_ID

*U99 0wy 11 19:30:34.832: IKEV2:(pg 9 SA = 1):1dpedplw
IJuozsed Idpuwades Os perd IUgpdsé

*U9 900y 11 19:30:34.832: (pe 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
R_Wait_AUTH IJz>e:
EV_CHK_IF_PEER_CERT_NEEDS_TO_GET_FOR_PROF_SEL
*099 0y 11 19:30:34.832: (pe, 9 IKEV2:(pg,9 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
R_Wait_AUTH IJz>e: EV_GET_POLICY_BY_PEERID

*11 099 p 19:30:34.833: IKEV2:(1): Iz wsl) IKE Profile IKEv2-
Setup

*11 099 ey 19:30:34.833: IKEV2: 1Jz09d eJs IJpdelz
lJpog9b pu gJIJ IJgusly 10.0.0.1

*11 U9 ey 19:30:34.833: IKEV2: Iz 09d eJs Idpdelz
lJeog9b oo gJIJ IJewsly 10.0.0.1

*099 0wy 11 19:30:34.833: IKEV2:| olWs |esls Il os
JJIBelz s woz peeses IUbsle

*099 00y 11 19:30:34.833: IKEV2:(pg 9 SA = 1)l gwewsle
pJV og s IKEV2 'IKEV2-Setup'

S99p IJpseo 2
wlugble
lIJlgwoglod
Jeied IKE_AU
lIJos luvedeo
pw IJpszo 1.
OTUIS Tipd
lJlwogled o
eJs: ISAKMP
Header(SPI/
version/flags) g

|Dl'(roE)g§
IJpuwoesy)
92,9J6
IJeol>86 9
SAr2(w>e SA-
similar of the
phase 2 transfe
set exchange
IKEv1) 9 TSi g
TSr(Initiator 9
Responder Tra
Selters). |yol
WIS £€Js
guslo ldeuos,
9ldogod JJuls
9ldpwoesy
eds IJwslds
Jlgho
w9zso/luve 9
26 0)9)
pUL,d. ST
Pblé lJeulos:
lo Jd gyrJs




*u99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_Wait_ AUTH IJz>e:
EV_SET_POLICY

*09 90y 11 19:30:34.833: IKEV2: (g ;9 SA = 1):]esl
lJuvsluwle Idos wp odssuol

*U99 0y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_Wait_AUTH |Jz>w:
EV_VERIFY_POLICY_BY_PEERID

*u99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_Wait_ AUTH IJz>e:
EV_CHK_AUTH4EAP

*u99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_Wait_AUTH IJz>e:
EV_CHK_POLREQEAP

*099pwy 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>w:
EV_CHK_AUTH_TYPE

*099 0wy 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>e:
EV_GET_PRESHR_KEY

*U9 90y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJz>e:
EV_VERIFY_AUTH

*u99 ey 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJz>e:
EV_CHK4_IC

*U99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>w:
EV_CHK_REDIRECT

*099pwy 11 19:30:34.833: IKEV2:(pg,9 SA = 1):dsuw ould
2led IJs IJezdd pu lebs Idegzso: pol 95 1Js wibso
*u99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJz>e:
EV_NOTIFY_AUTH_DONE

*wobsg 11 u9dew,y 19:30:34.833: Jp swp oISy w99S2

NISISPIVENE
IJobls sldso
swp logile
Yusle Jol. 03c
IJeedpele
el o
Jdpedpele IJe
e wdidsol e
ASA1.




PTPIEC IKEVv2:AAA

*Os 11 u9 e,y 19:30:34.833: Jp swp wdIsSy w9952
puvwede IKEV2:AAA

*099 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJgz>e:
EV_CHK_CONFIG_MODE

*U9 90wy 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>w:
EV_SET_RECD_CONFIG_MODE

*099 ey 11 19:30:34.833: IKEV2:Lslule IJodssy
lJeuwedes oo pzeses IJbgle:

*099 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>e:
EV_PROC_SA_TS

*U9 90wy 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_VERIFY_AUTH IJg>w:
EV_GET_CONFIG_MODE

*099 0wy 11 19:30:34.833: |KEV2:'CJoi WOs odysu 1U)»

*099 0wy 11:30:34.833: Ul w9z wslule wdsse Jhuwldol IJs
p2pogd IJbsle:

*099 0 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJg>w:
EV_MY_AUTH_METHOD

*099pwy 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJg>w:
EV_GET_PRESHR_KEY

*099 ) 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJg>e:
EV_GEN_AUTH

*U9 9 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJg>w:
EV_CHK4_SIGN

*u99 0y 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJgz>e:
EV_OK_AUTH_GEN

*099 0 11:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:




I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: R_BLD_AUTH IJz>w:
EV_SEND_AUTH
*099 0y 11 19:30:34.833: IKEV2:|uble 209J6 Eluoo wldpg)o:
Cisco-Granite
*U9 90 11 19:30:34.833: IKEv2:Construct Notify Payload:
SET_WINDOW_SIZE
*U9 9wy 11 19:30:34.833: IKEV2:Build Notify Payload:
ESP_TFC_NO_SUPPORT

*u99 00y 11 19:30:34.833: IKEV2:Build Notify
Payload: non_FIRST_FRAGS

*099 0y 11 19:30:34.833: IKEV2: (g8 IJg>006 (SA) =
1):1dzesdé IJoldss: ENCR. IJlosl, 2.0 Exchange type:
IKE_AUTH. IJgJlple: pg 09 )uwldo MSG-RESPONSE IJ¢l 0
vldpuwozse: 10 1JbgeJ: 252

pewssle [Jzesds:

2e9dsé ENCR IJoldsé: VID: pzez9jo: 0x0. [Jlbgd: 224

*u99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: AUTH_DONE event: o9l9.9_EV
*099 0y 11 19:30:34.833: IKEV2:(pg ;8 SA = 1):1Jg)le:
Action_NULL

*U99 00y 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: AUTH_DONE event:
EV_PKI_SSH_CLOSE

*099 ey 11 19:30:34.833: IKEV2:(pg 9 SA = 1):leJl§ eJuwo
PKI

*099 0wy 11 19:30:34.833: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: AUTH_DONE event:
EV_UPDATE_CAC_STATS

*099 0y 11 19:30:34.833: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: AUTH_DONE
event:EV_INSERT_IKE

*u99 00y 11 19:30:34.834: IKEV2:Store MIB index ikev2 1.
IJoble 1Jlul us 60

*099 0y 11 19:30:34.834: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (R)
MSGid = 000001 CurState: AUTH_DONE: z>o:
EV_GEN_LOAD_IPsec

*099 0wy 11 19:30:34.834: IKEV2:(pg )8 SA=1):cp 9,08
IJbJde g8, Idpajlps WS Blispes IUluw bl

Syuwd
lJeuweesw
lJlwoelod J
IKE_AUTH.




*59B puy 11 19:30:34.834: IKEV2:(pg 8 SA = 1):

*59B ey 11 19:30:34.834: (o8 IKEV2:(pg 8 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (R) MSGid = 000001 CurState:
AUTH_DONE IJz>&: EV_NO_EVENT

<—huwd IJpuwozse IKE_AUTH—

Swwode IJobs
luveeles pu
lIJpwozse.

*U9 9wy 11 19:30:34.834:
IKEvZ2:lJzo9d £Js 2ipd pu
IJesumd

*11 598 ey 19:30:34.834:

IKEV2:peldes suooy Ehe
Slisped luwbl, pak

*U99 ey 11 19:30:34.840:
IKEv2:(SA ID = 1):SM Trace->
SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4

(R) MSGid = 000001 CurState:

AUTH_DONE event:
EV_OK_RECD_LOAD_IPsec
*099 0wy 11 19:30:34.840:
IKEV2:(pg 9 SA = 1):1dlg)le:
Action_NULL

*U99 ey 11 19:30:34.840:
IKEv2:(SA ID = 1):SM Trace->
SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4

(R) MSGid = 000001 CurState:

AUTH_DONE event:
EV_START_ACCT

*U99 ey 11 19:30:34.840:
IKEv2:(SA ID = 1):SM Trace->
SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4

(R) MSGid = 000001 CurState:

AUTH_DONE event:
EV_CHECK_DUPE

*099 0wy 11 19:30:34.840:
IKEV2:(SA ID = 1):SM Trace->
SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4

(R) MSGid = 000001 CurState:

AUTH_DONE event:
EV_CHK4_ROLE

SI9p
lJewozsy
wlolz Ibgld W
SAD.

swzdd Jegeo 1 00
wslule 1dpuol> 96

*59B ey 11 19:30:34.834: IKEV2:(pg 8 106 (SA) =




1J92956 9 030
Izse6 sseldeol. soed
puvele wgds> 103l sa
slgd 09 s

1):1dze9J5 lJeldss: ENCR. 1J]uosly: 2.0 o9¢ Ilawewsld:
IKE_AUTH. IJgJlple: pg,0 5uulds IUpumczsw MSG-
RESPONSE: 1. |JbgJ: 252

peodsle Idgpsde:

*098pwy 11 19:30:34.834: 1z p9Jo 1Ugl oo wldpg)»
IKEv2:Parse: (CUSTOM) IJzesdé IJoldss: IDre pgz9j6: 0xO.
lJbyd: 20
Iz eedo IJeldss: Ideuol> 96 Idpzz9s6: 0x0: IJbyd: 12
09E IJpge ) d: gugly IPVA: pzz9): 0x0 0x0
Iz eedo IJeldss Jdpuolb§o: SA: pez9jo: 0x0. IJbgJ: 28
b,s96 1Jpuol> 96 PSK: pez9s: 0x0. pez9i6 0x0
ze9do SA IJuldse: TSic pzz9jo: 0x0. IJlbgd: 40
IJpde,e IJigs,: 0x0. p2z9;: 0x0. Il J: 36
IJpdene: 1 perd IJe,9e939J: ESP. eep SPI: 4. #trans: 3 1¢,
oe9sd: 0x3: pze9j: 0x0: 1JlbeJ: 8
lJuge: 1¢ pze9s: 0x0: IJpg ,9: 3DES
13, we9sd: 0x3. pp9y: 0x0: IJbgJ: 8
lJuge: 3¢ peeos: 0x0: IJpg ) 9: SHA96
13, we9sd: 0x0. pp9y: 0X0: IUbgJ: 8
lJuge: 5 peeos: 0x0: IJpg yd: g3p luwwgsle ESN
lJeeodo IJoldse J TSi: TSre pez9jo: 0x0: IJbyd: 24
num of TSs: 1« pzz9 0X0: pzz9; 0x0
u9ge TS: TS_IPv4_ADDR_RANGE: pg,9 IJlosl): 00 IdlbgJ:
16
pu93 IJose: 0 900095 IJyolss: 65535
wlsé 1Jewgly: 0.0.0.0 yolsé IJgwgly: 255.255.255.255
lJzeodo IJoldsse J TSr: Idledle pez9y: 0x0: IJbyd: 24
num of TSs: 1. pzz9 0x0: pze9; 0x0
u9g TS: TS_IPv4_ADDR_RANGE: pg,9 IJlosl): 0. Iy J:
16
p0u93 IJwre: 0 900093 IJuolso: 65535
wlso 1deosly: 0.0.0.0. wolso IJgwsly: 255.255.255.255

"9 e, 11 19:30:34.834: IKEv2:Parse |e e |Jzp09J6:
SET_WINDOW_SIZE NOTIFY(SET_WINDOW_SIZE) IJz9J6
lJoldss: ledle: pze9s: 0x0: beJ: 12

P& 90999 IJlelu: IKE. 22 spi: 0. IJuge:
SET_WINDOW_SIZE

*u99 0wy 11 19:30:34.834: IKEv2:Parse Notify Payload:
ESP_TFC_NO_SUPPORT Notify(ESP_TFC_NO_SUPPORT)
lJze9d6 IJeldss: Notify. pzz9s: 0x0. byJ: 8

P& 90999 |.Ji|o|QZ IKE: zgp SPI: 0. IJuge:
ESP_TFC_NO_SUPPORT




*59B e, 11 19:30:34.834: IKEv2:Parse Notify Payload:
NON_FIRST_FRAGS Notify(NON_FIRST_FRAGS) Iz 09J5
IJeldss: J Ginss: pzz9,: 0x0. |UbsJ: 8

pE,B 95939 IJiely: IKE. 220 SPI: 0. IUu9g:
NON_FIRST_FRAGS

*U9 900y 11 19:30:34.834: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000001 CurState: |_Wait_AUTH
|Jz>e:EV_RECV_AUTH

09 ey 11 19:30:34.834: IKEV2:(pg,08 SA = 1):ldlz)le:
Action_NULL

*o98 e, 11 19:30:34.834: (IKEv2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJgz>e:
EV_CHK4_NOTIFY

9B ey 11 19:30:34.834: (pg 0 IKEV2:(pg 8 SA = 1):SM
Trace-> SA: I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (l) MSGid = 000001 CurState:
I_PROC_AUI_AUI IJg>&:EV_PROC_MSG

*o98 e, 11 19:30:34.834: (IKEv2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJgz>e:
EV_CHK_IF_PEER_CERT_NEEDS_TO_GET_FOR_PROF_SEL
*o98 e, 11 19:30:34.834: (IKEv2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJz>e:
EV_GET_POLICY_BY_PEERID

*ouisu IJelus 11:30:34.834: IKEV2:|olws piy9e 1Jprzdo
1-prop |Js uwsluws pzeses IJbsle

*11 498 ey 19:30:34.834: IKEV2:(pg,08 SA = 1):lweisle
pJO og 55 IKEV2 "lesls IKEV2

*o98 e, 11 19:30:34.834: (IKEv2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJg>e:
EV_VERIFY_POLICY_BY_PEERID

*U9 90y 11 19:30:34.834: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJz>e:
EV_CHK_AUTH_TYPE

*o98 e, 11 19:30:34.834: (IKEv2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: |_PROC_AUTH_AUAUAUTH IJgz>e:
EV_GET_PRESHR_KEY




*u99 0y 11:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: |_PROC_AUC_AUA
lJe>e:EV_VERIFY_AUTH

*U99 00y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: _PROC_AUTH IJg>w:
EV_CHK_EAP

*099py 11:30:34.835: IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: |_PROC_AUC_AUA
lJz>o:EV_NOTIFY_AUTH_DONE

*wobsg 11 u9dew,y 19:30:34.835: Jp swp oISy w99S2
pzp9ed IKEVZ:AAA

*Os 11 u9 e,y 19:30:34.835: Jp swp wdIsSy w9982
puvwedpe IKEV2:AAA

*U9 900y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: _PROC_AUTH IJg>w:
EV_CHK_CONFIG_MODE

*u99 00y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: |_PROC_AUTH IJgz>e:
EV_CHK4_IC

*099 00y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: _PROC_AUTH IJg>w:
EV_CHK_IKE_ONLY

*099pwy 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: _PROC_AUTH IJg>w:
EV_PROC_SA TS

*099 0wy 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: AUTH_DONE event: p9l9.9_EV
*099 0y 11 19:30:34.835: IKEV2:(pog ;9 SA = 1):1dg)le:
Action_NULL

*U9 90y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (I)
MSGid = 000001 CurState: AUTH_DONE event:
EV_PKI_SSH_CLOSE

*099py 11 19:30:34.835: IKEV2: (g8 SA = 1):leJI9 gduwo
PKI

*099 00y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)




MSGid = 000001 CurState: AUTH_DONE event:
EV_UPDATE_CAC_STATS

*099 0y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBDS5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: AUTH_DONE event:
EV_INSERT_IKE

*U9 90w 11 19:30:34.835: IKEv2:Store MIB index ikev2 1.
IJoble IJlgul us 60

*099pwy 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: AUTH_DONE event:
EV_GEN_LOAD_IPsec

*099 0wy 11 19:30:34.835: IKEV2:(peg )8 SA=1):0p 9,08
IJbJde g8, Idpaslps b6 Blispes IUluw bl

*09B¥ o,y 11 19:30:34.835: IKEV2:(pg ;8 SA = 1):

*U9 900y 11 19:30:34.835: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000001 CurState: AUTH_DONE event:
EV_NO_EVENT

*oobst 11 u9dee, 19:30:34.835: wpe luwwodld ,uwldo
IKEV2:KMI ;8 8. Jp swp logh is lz)le.

*Lobst 11 09w, 19:30:34.835: o p luwaodld HuulJs
IKEV2:KMI 5,8 12. Jp swp logh ls lp)le.

*09WB o, 11 19:30:34.835: IKEV2:Jl w925 wslule JbhuwlJol
O presesd wdssu IUgoe.

*U99 0wy 11 19:30:34.841: IKEV2:| olW96 09 i) IJwdlso
0x8000002 | Jpo,owlb o SPI 0x9506D414 JeJwé I g od 8

*099 00y 11 19:30:34.841: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: AUTH_DONE event:
EV_OK_RECD_LOAD_IPsec

*099 0y 11 19:30:34.841: IKEV2: (g9 SA = 1):1dIg)le:
Action_NULL

*U99 00y 11 19:30:34.841: (IKEV2:(SA ID = 1):SM Trace-> SA:
I_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (1)
MSGid = 000001 CurState: AUTH_DONE event:
EV_START_ACCT

*U99 ey 11 19:30:34.841: IKEV2:(pg,9 SA = 1):lJpzluvwo
€Sy ploJyd

*099 0wy 11 19:30:34.841: (IKEV2:(SA ID = 1):SM Trace-> SA:
|_SPI=F074D8BBD5A59F0B R_SPI=F94020DD8CB4B9C4 (l)
MSGid = 000001 CurState: AUTH_DONE event:
EV_CHECK_DUPE




*59B a0y 11 19:30:34.841: (o8 IKEV2:(pg 58 SA = 1):SM
Trace-> SA: |_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4 (I) MSGid = 000001 CurState:
AUTH_DONE |Jz>&: EV_CHK4_ROLE

IJoSy 929> O
IJolsis 9ldzlJs
showREADY.

09 11
19:30:34.841:(pg 0
IKEV2:(pg,9 SA = 1):SM
Trace-> SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4
() MSGid = 000001 CurState:
READYE vent:
EV_CHK_IKE_ONLY

*U9 9wy 11 19:30:34.841:
(IKEv2:(SA ID = 1):SM Trace->
SA:
I_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4
() MSGid = 000001 CurState:
READY event._F i_ok

*U99 0wy 11 19:30:34.840:
IKEV2:(SA ID = 1):SM Trace->
SA:
I|_SPI=F074D8BBD5A59F0B
r_SPI=F94020DD8CB4B9C4
(R) MSGid = 0000001
CurStateStateState: Ready
lJz>e: EV_R_OK

*U99 ey 11 19:30:34.840:
(IKEv2:(SA ID = 1):SM Trace->
SA:
|_SPI=F074D8BBD5A59F0B
R_SPI=F94020DD8CB4B9C4
(R) MSGid = 000001 CurState:
READY event: EV:_ID
no_event

IJo 8 W99
IJouwoese.
sbo,y W99
lJeuwoesy &l
Iod lJulsis.

wuoest lglble CHILD_SA

@oi.J-.é o3l Idowbd pu jog bdo/luvegles glzs Sopu IJluvlyo [Jsoe Jeyeds 2 pu IJowhbd Vs
IKEV1. 9spJu IJuse WO 030 Igpdso pu gl s pu boyds IKE_SA wes 1Joeld gpdsle

IJoobd IJlsJss.

JJeseo 1

9,08 HuwlJs Child_SA

cuoese IJigble

9,08 HuwlJé Child

JJeseo 2

Sl ldpszo 1 ool
CHILD_SA. 03l 09 bJo
CREATE_CHILD_SA.

eds:

« SAHDR (u9¢

Jzie pu ldoold

Lwld zesJs KE
Sluséd )6 9lg6)

oew9s ¢jpd CHILD_SA glé

version.flags/exchange)
* nonce ni (lgesbs): B
wp logvle CHILD_SA

Ilsds: Susze €20

pu IJeruwd

Ilispd luwbl, pak

e0 3lJs7

*u9B e, 11:31:35.873: IKEV2:lJz o9 £Js 256

*u9B e, 11:31:35.873: IKEV2: pelJzs £uuo, ehe

*oolbst 11 09dpu, 19:31:35.873: IKEV2: (e 8
SA = 2):s209 ldbJo gds MESS_ID 3. po9de

*U98puy 11 19:31:35.873: IKEV2:(pg 9 |JE>p0 =
2):1Jze9dé IJoldss: ENCR. U] ool 2.0 9g
Exchange: CREATE_CHILD_SA: IJgJlple: pg )9




« 209J6 SA Huwlds IJobs: 30 [JlbgJ: 396

* KEi (pb0lz l2oshs): |eewssle IUzesds:
SpJu I Sewds bdo || zesds SA UgoU@é: N pez9yo: 0x0: IJlbbgd: 152
CREATE_CHILD_SA | IJpde,z IJigs): 0x0. ppz9s: 0x0. IJbbgJ: 148
lRosbsl eds zesds || 1dpdene: 1 per9 Ien9ogdad: IKE: zzp SPI:

KE Joobd DH 8. #trans: 15 wz9sd lgs,: 0x3: pzz9s: 0x0: IJbgJ:
luolvs Jopdsy 12

oolole 189s Jlgbs || 1Jase: 1 pzz9s: 0x0. IJ g ,8: AES-CBC
O92S0 S 13, oe9sd: 0x3. ppz9j: 0x0: IJbgeJ: 12
CHILD_SA. |5 Jlo, IJose: 1 pzzes: 0xO. IJpg,8: AES-CBC
02 SA seULPU 13, we9sd: 0x3. ppz9j: 0x0: IJbgeJ: 12
oepdgle DH pgodws. || 1Juse: 1 pzz9s: 0x0. IJeg ;90 AES-CBC
Bszu lu sy KEi 13, we9sd: 0x3. pz9j: 0x0: IJbgJ: 8
cououl v IUpzeses IJo9€: 20 o295 0X0. 1Jog ,05: SHA512
IJos sosde Iobis &) cz9sd: 0x3. pzz9j: 0X0: IJbgJ: 8

o sGodol 1Jo9€: 20 o295 00, 1Jog ,05: SHA384
lJpuwozse. O gldo 13, oe9sd: 0x3. ppz9j: 0x0: IJbgJ: 8
0958 bl O] IJO9E: 2 o229y 0XO: I pg ,c8: SHA256
oolbd 13, oe9sd: 0x3. ppz9j: 0x0: IJbgJ: 8

CREATE_CHILD_SA. IJu9g: 20 pzz9s: 0X0: 1Jpg,9: SHAT
9speduo lglé |Jpeleds TEJ oz9sd: 0x3: pze9j: 0x0: 1Jlbgd: 8
wluwwgsle KEi pgodud lJu9g: 20 pzz9s: 0X0: 1Jpg 9 MD5

* N(leJdlp 1Jze9sdo 13, wz9sd: 0x3: ppz9s: 0x0: IJbyJ: 8
IJIZoshss). sop lJose: 3¢ pez9os: 0x0: IJpgy9: SHA512
loweesle 296 13, oe9sd: 0x3. ppz9j: 0x0: IJbbsJ: 8
IJledle JLuwlJ lJoge: 3¢ pez9os: 0x0: IJpg 9 SHA384
wslule |.J|DE_.J_9(>=|Q‘ Té) wz9sd: 0x3: pze9j: 0x0: 1Jlbed: 8
pod 2ldle 1Ugbl lJuge: 3¢ pez9s: 0xO0: IJpg,9: SHA256
slooyldle I._JaIJé‘c IJs || T&) wzasd: 0x3. ppz9j: 0x0: IJbsJ: 8
ubs) IKE. spdu o lJu9g: 3¢ pzz9s: 0x0. IJpg 9 SHA96
wboj z2p9ds IUledle 13, we9sd: 0x3. ppr9j: 0x0: IJbgJ: 8
Vs yuwldo [uwegles lJu9g: 3¢ pzz9s: 0x0: IJpeg 9 MD596
(ebs pl wea> o 13, we9sd: 0x3. pz9j: 0x0: IJbgJ: 8
290 bJo) s lJose: 4« pzz9os: OXO0: IJpgyu:

Exchange JJpegJyple [DH_GROUP_1536_MODP/Group 5

(JJlLJIE go gbl Jsuw| T wezosd: 0x0. pzzes: 0x0: IbgJ: 8

S b IKE). l9 B IJuse: 4 ppz9s: 0X0. IJpg 5u8:

ls ouwlde 13)s DH_GROUP_1024_MODP/Group 2

JJluvhs Ids @sle N IJzesdo IJoldse: KE: pzz9jo: 0x0: IJlbeJ: 24
IJpouwd b9 Jogssd 2e9do KE IJoldse: Idledlp: pzz): 0x0: [JlogJ:
peus IdbJdo bl Jly 136

o3l lJeuls p2p9€6 DH: 2. 022951 0X0
CREATE_CHILD_SA
SES> ooy SA *59d e, 11 19:31:35.874: IKEv2:Parse Notify

0929> w¢Jlw IKE_SA. |Payload: SET_WINDOW_SIZE




OSgw Io oedd 2e9Jo
N Ilss6 po IJoge
REKEY_SA lJos swpe
lelxdé wdgsuwol. I3 Jp
SYe wubd
CREATE_CHILD_SA
o3l olglhé wdosu SA
929 DSz 23S
2e9Jo N.

NOTIFY(SET_WINDOW_SIZE) Iz p9J6 lJolJsé:
Jl Uvse: pez9y: 0x0. 1l J: 12

P 90999 IJlely: IKE: 2z spi: 0. IJuse:
SET_WINDOW_SIZE

*Os 11 u9dpu, 19:31:35.874: IKEV2:(pg ;9 SA
= 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: Ready
Event:_RECV_CREATE_CHILD

*U99pwy 11:31:35.874: IKEV2:(pg 9 SA =
2):1Jlz,le: Action_NULL

*099 00y 11 19:31:35.874: (pe, 9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>o
CHILD_R_INIT:_RECV_CREATE_CHILD
*099py 11:31:35.874: IKEV2:(pg 9 SA =
2):1Jlg,le: Action_NULL

*099pwy 11 19:31:35.874: (pe 8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>& CHILD_R_INIT:_verify_msg
*U98pwy 11 19:31:35.874: (g8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>&
CHILD_R_INIT:_chk_cc_type

*099 00y 11 19:31:35.874: (pe,) 9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_IKE z>w:
EV_Rekey_IKESA

*U98pwy 11 19:31:35.874: (pe 8 IKEV2: (pg ),
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>o
CHILD_R_IKE:_GET_IKE_POLICY

*11 99 19:31:35.874: IKEV2:Z 1z uo9d eJs




p90lz wp lduogb edso wldewsly 10.0.0.2
*11 099y 19:31:35.874: IKEV2: IJz09d £Js
lJpolz IJpuogsd oo gdld IJgusle 10.0.0.2
*u99 0y 11:31:35.874: IKEV2:| olW96 oo
I8ele 1380 [Js Lwsluwé pzeses 1dIxgle

*11 499y 19:31:35.874: IKEV2:(pg 9 SA =
2):lgwegsle pdod wg s IKEV2 "[esls IKEV2
*U9 900y 11 19:31:35.874: (pg )9 IKEV2: (pg )9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>e CHILD_R_IKE:_proc_msg
*099 00y 11 19:31:35.874: (pg) 9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>o CHILD_R_IKE:_set_policy
*11 u9 9 19:31:35.874: IKEV2:(pg 9 SA =
2):lesb Iduwsluwle IJos wp wdysuol
*099pwy 11 19:31:35.874: (pe 8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJg>w:
EV_GEN_DH_KEY

*099 00y 11 19:31:35.874: (pg 9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADE®6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJg>w:
EV_NO_EVENT

*099pwy 11 19:31:35.874: (pe 8 IKEV2: (pg ),
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJg>w:
EV_OK_RECD_DH_PUBKEY_RESP

*U9 9y 11:31:35.874: IKEV2:(pg 9 SA =
2):1Jle,le: Action_NULL

*099pwy 11 19:31:35.874: (pe 8 IKEV2: (pg,0
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSSSSB g
event:EV_GEN_DH_Secret




*099pwy 11 19:31:35.881: (pe 9 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJz>w:
EV_NO_EVENT
*099p00y 11 19:31:35.882: (g, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJz>e:
EV_OK_RECD_DH_SECRET_RESP
*099 0y 11:31:35.882: IKEV2: (g, SA =
2):1Jlg)le: Action_NULL
*099 00y 11 19:31:35.882: (g, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJg>w:
EV_BLD_MSG
*u99 ey 11 19:31:35.882: IKEV2:ConstructNotify
Payload: SET_WINDOW_SIZE
peedsle IUgesde:
2p9do SA IJoldsé: Ne pzz9jo: 0x0: IJlogd: 56
IJede,z IJigs,: 0x0. ppzgs: 0X0. I g J: 52
lJede,z: 1c peyd IJen9e9d9d: IKE: zzp SPI:

8. #trans: 4 |Jozosd IJIgs): 0x3: pez9): 0xO0:
lJbgd: 12

lJuge: 10 pzz9s: 0x0. IJpg o 9: AES-CBC

13, oe9sd: 0x3. ppz9j: 0x0: IJbgJ: 8

IJu9g: 20 pzz9s: 0X0: IJpg ) 9: SHAT

13, w29sd: 0x3. ppr9j: 0x0: IJbgJ: 8

lJose: 3¢ pez9os: 0x0. IJpg ) 9: SHA96

13, oe9sd: 0x0. ppz9j: 0x0: I J: 8

lJosg: 4« pez9os: OX0: IJpgyus:
DH_GROUP_1024_MODP/Group 2
N Idgeods IJuldsé: KE: pze9jé: 0x0. IUlbgd: 24
z2e9dé KE IJoldsé: IJledle: peeys: 00 1Jlbgd:
136

pee9e6 DH: 2. pze9;: 0x0
Notify(set_window_size) |Jzp9J6 |Joldsé: JI
uwse pez9ss 0x0. IJbgJ: 12

P 95999 IJlely: IKE: 22 spi: 0. IJuse:
SET_WINDOW_SIZE




"9 ey 11 19:31:35.869: IKEV2:(pg,5 SA =
2):1Jz p9J6 IJeldss: ENCR. IUlLosl: 2.0 og
Exchange: CREATE_CHILD_SA. IJgJlple: o 8
LuwlJs IJolsis: 2. 119 J: 460

peessle Idgesde:

1Jz9J6 IJelJsé J ENCR: SA. pzz9,6: 0XO.
|UbbgJ: 432

*u99 0y 11:31:35.873: IKEV2:Build Notify
Payload: SET_WINDOW_SIZE

pewssle 1Jgesde:

2095 SA IJelds: Ne pzz956: 0x0. [JlogJ: 152
ez 1Jizs): 0X0. ppz9s: 0X0. IUlogJ: 148
Jedez: 1 perd IJwysesdds]: IKE. zzp SPI: 8.
#trans: 15 we9sd 126y 0X3: pee9): 0x0: 1JbyJ:
12

lJuse: 10 pze9s: 0x0. IJpeg 8 AES-CBC

13, ©e9sd: 0x3. pp9y: 0X0: IJlbgJ: 12
IJose: 10 pzz9s: 00, IJpg 5 6: AES-CBC

15, o29sd: 0x3. pzz9j: 0x0: IJbgeJ: 12
IJose: 10 pzz9s: 00, IJpg 5 6: AES-CBC

12, weasd: 0x3. ppz9y: 0X0: IUbgJ: 8

lJuse: 2¢ pee9s: 0x0: IJpg 8 SHA512

13, wz9sd: 0x3. ppe9s: 0x0: IJbgJ: 8

IJose: 2: pzz9s: 0X0. 1o y8: SHA384

13, we9sd: 0x3. ppe9y: 0X0: IUlbgJ: 8

IJose: 2 ppz9s: 0X0. 1o ,u5: SHA256

13, we9sd: 0x3. ppe9y: 0x0: IUbgJ: 8

IJosg: 2 2295 00, IJpg 56 SHAT

&) o29sd: 0x3. ppz9j: 0x0: IJbgJ: 8

lJuge: 20 pee9s: 0x0: IJpg 9 MD5

12, weasd: 0x3. ppz9y: 0X0: IUbyJ: 8

IJese: 30 pzz9s: 0X0. I pg 6 SHA512

13, wz9sd: 0x3. ppe9s: 0x0: IJbyJ: 8

IJuse: 3¢ pzz9s: 0X0. 1o 58: SHA384

13, we9sd: 0x3. ppe9y: 0X0: IUlbgJ: 8

IJose: 3 ppz9s: 0X0. 1o ,05: SHA256

12, weasd: 0x3. pp9y: 0X0: IUbgJ: 8

lJoge: 3¢ pzz9s: 0x0: IJpg,9: SHA96

&) o29sd: 0x3. ppz9j: 0x0: IJbgJ: 8

lJuge: 3¢ peeys: 0x0: IJpg y8: MD596

12, weasd: 0x3. ppz9y: 0X0: IUbgJ: 8

lJuse: 4 peeos: 0X0: IJpg u9:
DH_GROUP_1536_MODP/Group 5

12, we9sd: 0x0. pp9y: 0X0: IJlbgJ: 8

lJose: 4 pze9s: 0X0. IJpg yus:

Supe od9s 030 1Jgj e




DH_GROUP_1024_MODP/Group 2

N 1JzpJds IJeldsé: KE. pgegjé: 0x0. I bgJ: 24
IJep9ds IJeldss J KE: IJleJlo: pzz95: 0XO.
IJboJ: 136

rer9e6 DH: 2. pze9;: 0X0
Notify(set_window_size) IJze9Js IJwlJsé: JI
uvse: pez9ss 0x0: [JbgJ: 12

P& 95999 IJlelu: IKE. 2z spi: 0. IJuge:
SET_WINDOW_SIZE

*59Bpuy 11 19:31:35.882: IKEV2:(pg 0 SA =
2):11z p9J6 lJoldss: ENCR. 1J] Lol 2.0 wog
Exchange: CREATE_CHILD_SA. IJgJlole: pg,d
lJ,uwlJs MSG-RESPONSE IJzl ol pumozsy:
3¢ IJbyJ: 300
pew9sle 1JzesJs:
2p9Jé SAlJoldss: Ne peeyjé: 0x0. IJlbgJ: 56
IJe8ez IJigs,: 0X0: p2z9;: 0X0. I g J: 52
Jedesz: 1 perd IJunsesdsd: IKE: zze SPI:

8. #trans: 4 |Jogosd IJIgs,): 0x3: pez9s: 0xO:
IlboJ: 12

lJose: 1« pez9os: 0x0: IJpg9: AES-CBC

13, oe9sd: 0x3. ppz9j: 0x0: I J: 8

lJo9g: 20 pzz9s: 0x0: IJpg 9 SHA1

&) cz9sd: 0x3. pzz9s: 0X0: IJbgJ: 8

lJuge: 3¢ pzz9os: 0x0: IJpg,9: SHA96

13, oe9sd: 0x0. ppz9j: 0x0: IJbgJ: 8

lJuge: 4 pzzos: 0x0: IJpg yu:
DH_GROUP_1024_MODP/Group 2
N 1Jz09J6 IJoldsé: KE. ppz9;6: 0X0. IJlbgJ: 24
IUz09J6 lJeldss J KE: IUledle: p2295: 0XO.
IlboJ: 136

per9es DH: 2. oze9;: 0X0

*u99pey 11 19:31:35.882: IKEv2:Parse Notify
Payload: SET_WINDOW_SIZE
NOTIFY(SET_WINDOW_SIZE) Iz p9J6 IJolJsé:
Jl Gvse: pezes: 0x0. IJboJ: 12

P wy90999J IJlely: IKE. 22 spi: 0. IJuse:
SET_WINDOW_SIZE

*099 00y 11 19:31:35.882: (e, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003

Swus Idpgze 21Ul I
eJs wul>d CHILD_SA
oS luwuoeglud
CREATE_CHILD_SA.
wzw9s ¢gjped CHILD_S

eds:

SA HDR (u9¢
version.flags/exc
nonce NI(lzgesh.
op logile CHILE
Jzie pu ldouls,
IJisds: Ssew &
buwld zesds KE
Slos6 90,6 9lgaé
ze9J6 SA

KEi (p80le lgod
sedo lu seess
CREATE_CHILD
ltosbsl eds ze
KE JeolsJ DH
luolds Jopds
elole 189s JI
IS0 UMISO
CHILD_SA. 31 JI
&2 SA su o
rersele DH ot
Ssee 1o sdsu
gl pu ldpes
lJos swade [J
i SYwJol
lJeuwoesy. B3l
wgpsu bl
BOuwsIund oo
CREATE_CHILD
Ssew lebo Ideel




CurState: CHILD_I_Wait IJg>w:
EV_RECV_CREATE_CHILD

*U99pwy 11:31:35.882: IKEV2:(pg 9 SA =
2):1Jlg,le: Action_NULL

*Os 11 u98pw,) 19:31:35.882: (g, IKEV2:
(pey9 SA =2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: CHILD_I_PROC lJg>w:
EV_CHK4_NOTIFY

*Os 11 099 pw,y 19:31:35.882: (e, IKEV2:
(pe,5 SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: CHILD_I_PROC: EV_VERIFY_MSG
*099pwy 11 19:31:35.882: (pg 9 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o CHILD_I_PROC:_proc_msg
*099pwy 11 19:31:35.882: (g9 IKEV2: (pg,90
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>& CHILD_I_PROC:_chk4_pfs
*099pwy 11 19:31:35.882: (pg 9 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o CHILD_I_PROC:_gen_dh_secret
*U99pwy 11 19:31:35.890: (pg 8 IKEV2: (pg,0
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>& CHILD_I_PROC:_NO_EVENT
*099pwy 11 19:31:35.890: (pg 8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: goo
CHILD_I_PROC:_OK_RECD_DH_SECRET_RESP
*U99pwy 11:31:35.890: IKEV2:(pg,9 SA =
2):1Jlgle: Action_NULL

*099pwy 11 19:31:35.890: (pg 8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:

KEi o],

* n (Notify payload
optional): swpe
luvegsle 2psds
lJledle JLuwlJ
lJoslule
IJegdsploss: o
eldle 1Jgbl sloe
IJelJé: [Js wlbs
Spdu lu oo, ¢
IleJle S Huwl,
luveeled (g6 p
o )8 o Uk
i.9 s wubd g
(JJloJlg gu Cbl
Vs bdo IKE). I
s Huwlds 136
Jdluhyé s ee
IJeouwd 19 Jogs
peus IUbdo. 13l
oubd
CREATE_CHILD
o3l sepd eds le
oJd9su SA p9es.
wedlw IKE_SA.
io wed lJgpeedo
IJobsé po woe
REKEY_SA SA |,
Sup lebs odgs
Je s¥p oobd
CREATE_CHILD
03l Llglxé w9
PIT9: O ST T
2e9Js N.

Souvd 1Jpszoe 2 1Jlgwe
9s5Ipd wuyisslb CHIL
lJz>eso.




|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o CHILD_I_PROC:_chk_ike_rekey
*099 00y 11 19:31:35.890: (e, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o CHILD_I_PROC:_gen_skeyid
*098pwy 11 19:31:35.890: IKEV2:(pg 8 SA =
2):luunle skeyid

*099pwy 11 19:31:35.890: (pg 8 IKEV2: (pg ),
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: CHILD_I_DONE IJz>e:
EV_ACTIVATION_SA

*u99 00y 11 19:31:35.890: (pe )9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: goo
CHILD_I_DID:_UPDATE_CAC_STATS

*11 099y 19:31:35.890: wp wuvsb bdo
IKEv2:New IKEV2

*0u99 00y 11:31:35.890: IKEV2: 9 bd Vs
oddsd £ plo Idovdly o Idyols)o

*u99p00y 11 19:31:35.890: (pg )9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o CHILD_I_DID:_CHECK_DUPE
*099pwy 11 19:31:35.890: (pg 8 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: z>& CHILD_I_DID:_p9l9,.9

*u99 00y 11 19:31:35.890: (pe )9 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (I) MSGid = 000003
CurState: g>o Exit: EV_CHK ogJ 9

*U99pwy 11 19:31:35.890: IKEV2:(pg 9 SA =
2):lwogles wpw peldzeol wluvegsle pg )
lHuwldé 3¢ spdo buwld Idbdole pu ldoublg 4
lJs 8




*Os 11 099 pw,y 19:31:35.890: (e, IKEV2:
(pe,5 SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (l) MSGid =
0000003 CurState: Exit Event: MEV: no_event

suvode ldesze 12506
lJlgwozlod pu lJp9eo 2
9sIdpd cuubsb
CHILD_SA.

*U9B8puy 11 19:31:35.882: IKEV2:(pg 8 1UE>00
(SA) = 2):ldeesdsé IJoldss: ENCR: IUluesl): 2.0
u9¢ Exchange: CREATE_CHILD_SA: |UgJlplw:
&S 1UyuwlJo MSG-RESPONSE IJ¢l o
vldpuwoesye: 3 ldbgd: 300

reedsle IUgesde:

lJeesds IJoldssé J ENCR: SA: pzz956: 0xO0.
l|JbyJ: 272

*U9 900y 11 19:31:35.882: (pg 9 IKEV2: (pg 9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSSSSSD g
event:EV_CHK_IKE_REKEY

*099 00y 11 19:31:35.882: (e, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_BLD_MSG IJg>w:
EV_GEN_SKEYID

*11 0990y 19:31:35.882: IKEV2:(pg,8 SA =
2):logile pg 9 Skeyid

*U99pwy 11 19:31:35.882: (g9 IKEV2: (pg,0
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_DONE:Event
EV_ACTIVATION_SA

*U99 00y 11 19:31:35.882: IKEV2:Store MIB index
ikev2 3. IJublo Il ul s 62

*098pwy 11 19:31:35.882: (pe,9 IKEV2: (pg ),
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>o
CHILD_R_DONE:_UPDATE_CAC_STATS

*11 499y 19:31:35.882: wp cuyvbsb bde
IKEv2:New IKEV2




*u99 00y 11 19:31:35.882: W uJ IKEV2:L9s
o¥dsd 3 plo ldovdlyso 18 e

*099 00y 11 19:31:35.882: (g, IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: CHILD_R_DONE IJz>w:
EV_CHECK_DUPE

*U98pwy 11 19:31:35.882: (pe,9 IKEV2: (pg,0
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: z>& CHILD_R_DONE:_p9l8.§
*099 00y 11 19:31:35.882: (pg, 0 IKEV2: (g9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CurState: g>o
CHILD_R_DONE:_start_del_neg_tmr

*U99py 11:31:35.882: IKEV2:(pg 9 SA =
2):1Jlg,le: Action_NULL

*099pwy 11 19:31:35.882: (pg 9 IKEV2: (pg,9
SA = 2):SM Trace-> SA:
|_SPI1=0C33DB40DBAAADEG6
R_SPI=F14E2BBA78024DE3 (R) MSGid =
000003 CursState: z>o Exit: EV_CHK pgJ 9
*u99 00y 11 19:31:35.882: IKEV2:(pg 9 SA =
2)lgwoelod pyuwds pg perd Iyuwlds 3 sedu
Jwod Idbdole po IJobls 4 |Js 8

*U99pwy 11 19:31:35.882: (pe,9 IKEV2: (pg ),
SA = 2):SM Trace-> SA:
|_SPI=0C33DB40DBAAADEG
R_SPI=F14E2BBA78024DE3 (R) MSGid =
0000003 CurState: Exit Event: MEV: no_event

ozl pu o $

ISAKMP

<tfroot>

show crypto i kev2 sa detailed




[olz |Jpoze 1

<{froot>
Routerl#

show crypto i kev2 sa detailed

IPv4 Crypto IKEv2 SA

Tunnel-id Local Remote fvrf/ivrf Status
1 10.0.0.1/500 10.0.0.2/500 none/none READY
Encr: AES-CBC, keysize: 128,
Hash: SHA96, DH Grp:2,
Auth sign: PSK, Auth verify: PSK
Life/Active Time: 120/10 sec
CE 1id: 1006, Session-id: 4
Status Description: Negotiation done
Local spi: E58F925107F8B73F Remote spi: AFD098F4147869DA
Local 1id: 10.0.0.1
Remote 1id: 10.0.0.2
Local req msg id: 2 Remote req msg id: O
Local next msg id: 2 Remote next msg id: 0
Local req queued: 2 Remote req queued: O
Local window: 5 Remote window: 5
DPD configured for 0 seconds, retry 0
NAT-T is not detected
Cisco Trust Security SGT is disabled
Initiator of SA : Yes
[z |Jpsze 2
<#root>
Router2#
show crypto ikev2 sa detailed
IPv4 Crypto IKEv2 SA
Tunnel-id Local Remote fvrf/ivrf Status
2 10.0.0.2/500 10.0.0.1/500 none/none READY
Encr: AES-CBC, keysize: 128, Hash: SHA96,
DH Grp:2, Auth sign: PSK, Auth verify: PSK

Life/Active Time: 120/37 sec

CE id: 1006, Session-id: 4

Status Description: Negotiation done
Local spi: AFD098F4147869DA Remote
Local 1id: 10.0.0.2

Remote id: 10.0.0.1

Local req msg id: O Remote
Local next msg id: 0 Remote
Local req queued: O Remote
Local window: 5 Remote

DPD configured for 0 seconds, retry 0

spi: E58F925107F8B73F

req msg id:
next msg 1id:
req queued:
window:

I NDNN



NAT-T is not detected
Cisco Trust Security SGT is disabled
Initiator of SA : No

IPsec

<tfroot>

show crypto ipsec sa

N LUlbs: s 031 Ul lz: £des e pl 09 10pld Bes IKEVT, el $uspé ozp9e6 PFS DH
eJs 05:56 "PFS (Y/N): N. pze9e6 DH: none" icole wlly o IJodd IJlsd. JIo wes 229
pbolz pdelz ) wbo, IJdse lJuozses. 03l Jsuw gbl zos 9lo Jlo [Juudsd p9,09L8
W9 Cisco w9 id CSCugB7056. (spdu B3 Jpuwegspes Cisco lUpuwegdsu 1o [Js
I»9le Cisco IUslgdss 19 1Jpgdople.)
1J8,08 wsw IKEVT 9 IKEV2 o9 e B 1JzlJs 1Jigs)6: sop logule SAs IJgluoé Lldibdl]
Jzie pu wubd Idpuob 96 GO wo. Juswe luwwgsle peeses DHIJos wp wdsuel Jopu
Ssbo lJogvds) vob & ole lIJewole. wldolds: gveys PFS (Y/N): N pze9e6 DH: none
cus lJpvclz 1JisJ.

o8 IKEV1. Gucns wudsdl ppeddl Jio lousle Child SA szaes leole "o Iduwse”
9JyuwlJs CREATE_CHILD_SA o985, Jzed 2e9Jé Key Exchange Ios wess pedpele DH
Jlwodle uv puvesd 238>,

[z |Jpoze 1

<#root>
Routerl#

show crypto ipsec sa

interface: TunnelO
Crypto map tag: TunnelO-head-0,
local addr 10.0.0.1

protected vrf: (none)

Tocal 1ident (addr/mask/prot/port):
(0.0.0.0/0.0.0.0/256/0)
remote ident (addr/mask/prot/port):
(0.0.0.0/0.0.0.0/256/0)

current_peer 10.0.0.2 port 500
PERMIT, flags={origin_is_acl,}
#pkts encaps: 10, #pkts encrypt:
10, #pkts digest: 10
#pkts decaps: 10, #pkts decrypt:
10, #pkts verify: 10
#pkts compressed: 0, #pkts decompressed: 0


https://bst.cloudapps.cisco.com/bugsearch/bug/CSCug67056

#pkts not compressed: 0, #pkts compr. failed: 0
#pkts not decompressed: 0, #pkts decompress failed: 0
#send errors 0, #recv errors 0

local crypto endpt.: 10.0.0.1,
remote crypto endpt.: 10.0.0.2
path mtu 1500, ip mtu 1500, ip mtu idb Ethernet0/0
current outbound spi: OxF6083ADD(4127734493)
PFS (Y/N): N, DH group: none

inbound esp sas:
spi: 0x6B74CB79(1802816377)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn 1id: 18, flow_id: SW:18,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key lifetime (k/sec):
(4276853/3592)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

inbound ah sas:
inbound pcp sas:

outbound esp sas:
spi: OxF6083ADD(4127734493)

transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }

conn 1id: 17, flow_id: SW:17,
sibling_fTags 80000040,

crypto map: TunnelO-head-0

sa timing: remaining key
Tifetime (k/sec): (4276853/3592)
IV size: 8 bytes

replay detection support: Y
Status: ACTIVE(ACTIVE)

outbound ah sas:

outbound pcp sas:

[olz |Jpsze 2

<#root>
Router2#

show crypto ipsec sa

interface: TunnelO
Crypto map tag: TunnelO-head-0, local addr 10.0.0.2

protected vrf: (none)
local ident (addr/mask/prot/port): (0.0.0.0/0.0.0.0/256/0)



remote ident (addr/mask/prot/port): (0.0.0.0/0.0.0.0/256/0)
current_peer 10.0.0.1 port 500
PERMIT, flags={origin_is_acl,}
#pkts encaps: 5, #pkts encrypt: 5, #pkts digest: 5
#pkts decaps: 5, #pkts decrypt: 5, #pkts verify: 5
#pkts compressed: 0, #pkts decompressed: 0
#pkts not compressed: 0, #pkts compr. failed: 0
#pkts not decompressed: 0, #pkts decompress failed: 0
#send errors 0, #recv errors 0

local crypto endpt.: 10.0.0.2,
remote crypto endpt.: 10.0.0.1
path mtu 1500, ip mtu 1500, ip mtu idb Ethernet0/0
current outbound spi: Ox6B74CB79(1802816377)
PFS (Y/N): N, DH group: none

inbound esp sas:
spi: OxF6083ADD(4127734493)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn id: 17, flow_id: SW:17,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key lifetime
(k/sec): (4347479/3584)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

inbound ah sas:
inbound pcp sas:

outbound esp sas:

spi: 0x6B74CB79(1802816377)
transform: esp-3des esp-sha-hmac ,
in use settings ={Tunnel, }
conn 1id: 18, flow_id: SW:18,
sibling_fTags 80000040,
crypto map: TunnelO-head-0
sa timing: remaining key
Tifetime (k/sec): (4347479/3584)
IV size: 8 bytes
replay detection support: Y
Status: ACTIVE(ACTIVE)

outbound ah sas:

outbound pcp sas:

Spdud lsuol o8l pu lg)lz 1Jie, show crypto session gJs JJI 1dpgzosut seoue o3l 1J1g)lz
2lJs gduwo gpd 1o § J up-active.

<#root>
Routerl#

show crypto session



Crypto session current status

Interface: TunnelO
Session status: UP-ACTIVE
Peer: 10.0.0.2 port 500
IKEv2 SA: local 10.0.0.1/500 remote 10.0.0.2/500 Active
IPSEC FLOW: permit ip 0.0.0.0/0.0.0.0 0.0.0.0/0.0.0.0
Active SAs: 2, origin: crypto map

Router2#

show cry session

Crypto session current status

Interface: TunnelO
Session status: UP-ACTIVE
Peer: 10.0.0.1 port 500
IKEv2 SA: local 10.0.0.2/500 remote 10.0.0.1/500 Active
IPSEC FLOW: permit ip 0.0.0.0/0.0.0.0 0.0.0.0/0.0.0.0
Active SAs: 2, origin: crypto map

osedyple slo Lods

« wuozszlible pwe9s o)90939) 9o uls] 25 IKEV2


https://www.cisco.com/c/ar_ae/support/docs/security-vpn/ipsec-negotiation-ike-protocols/115936-understanding-ikev2-packet-exch-debug.html
https://www.cisco.com/c/ar_ae/support/docs/security-vpn/ipsec-negotiation-ike-protocols/115936-understanding-ikev2-packet-exch-debug.html
https://www.cisco.com/c/ar_ae/support/index.html?referring_site=bodynav
https://www.cisco.com/c/ar_ae/support/index.html?referring_site=bodynav
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olUwUbyss JU@sse pawals sep JUpuwwaspisy Wis apse lual- 1deldp
wUgWop IJalyes. sjats pdlabe Iy Twusd Ojaps Tdss Ju CWgy s@sw@s Jel
og ldald pe ldYjapd Idlauyl@ss 1O (s s@pol pUjap pawyd. ads Cisco
Systems puu(sgdsol g 988 030 IJUjapld gl widiage SlGel lds
ldewvoys Idlvadsis IJlueds (Idylub pogus)).



